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QUESTION 1

Which of the following are characteristics of the DevOps methodology? Note: There are 2 correct answers to this
question.

A. Automation of repetitive tasks.

B. Shortened lead time between fixes.

C. SAP HANA data warehousing foundation

D. A clear separation of development and operations tasks on an organizational level.

Correct Answer: AB

QUESTION 2

Which of the following activities are part of the realization phase of an SAP Business Warehouse (SAP BW) project?
Note: There are 3 correct answers to this question.

A. Create functional and technical documentation.

B. Design the data layer concept based on the LSA++ architecture.

C. Build SAP HANA views and define their properties.

D. Create and activate SAP BW objects

E. Define a service level agreement.

Correct Answer: ACD

QUESTION 3

Which of the following statements about the LSA architecture are true? Note: There are 2 correct answers to this
guestion.

A. LSA is designed for high flexibility and little governance.

B. LSA was designed with the technologies of traditional databases and classic SAP BW in mind.
C. LSA defines mostly virtual structures to avoid redundant copies of data.

D. LSA describes a blueprint for data flows which can be applied throughout the data warehouse.

Correct Answer: BD

QUESTION 4
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What is the right modeling object for semantic partitioning in SAP BW/4HANA?
A. SAP HANA calculation view

B. Layered scalable architecture

C. Semantic group

D. Semantically partitioned object (SPO)

Correct Answer: C

QUESTION 5

Why are DataStore Objects so important? Choose the correct answer(s).
A. They can overwrite data.

B. They allow for raw uncleansed data to be stored for 3 months.

C. They easily integrate in the data flow.

D. They store detailed data leaving Infocubes to store aggregated data.

Correct Answer: ACD
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